Maths Home Learning Year 3

Division — using bar model- Summer 2- 15.06.2020

' Use bar models to show: {
a.12 2= ' ' Use bar models to show:

12 i

b.36+4=
d.39+3=

c.2d+3=
e. 75 +5=

' ’ ’ Use bar models to show:

f. Jim has 72 sweets. He wants to share them equally into & party bags. How
many should he put in each?

g. Terry collects 32 eggs from his hens. He puts 4 in each tray. How many trays
does he have?

h. Write yvour own word problem to show: 24 + 4 = Use a bar model to show your
answer.




Maths- No Problem
Worksheet 8- Pages 95-96
Worksheet 9- Pages 97-98

Purple Mash

New learning has been set on you on Purple Mash also.

TT Rockstars

New learning has been set on TT Rockstars! Get practising on here!



